FR25—FHAFE KERERR HKRE: 430 (BER) MOEM

KEHAETRE

&5 BRERE

189
146
] 320
] DIEEH 0003
[ 4] 71 0005
] 001
n 001
EFRUZOIEEH 001
RSO LEEY = = = = = = = = = = = = = = 005 = = = = 005
BEBEER — — — — — — — — — — — — — — 004 — — — — 4
7 AT RO T = = = = = = = = = = = = = = 001 = = = = 1
WEEERRUEHBEER - — - 0.07 - — - — 021 0.21 007 0.14 — — 07 — — 0.03 —
2yERUZDLEED - - - - - - - - - - - - - - 05 - - - -
£ &' = = = = = = = = = = = = = = 02 = = = = 2
= = = = = = = = = = = = - - <0.0002 = = = = 0002
15 1 = = = = = = = = = = = = = = <0.0005 = = = = 0005
SZ-12-OYOATFLURY _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _
L et 0 <0001 <0.001 1
A BZEEEE D) - = - - - - - - - - = - = - <0.001 - = - = <0.001
6 [Fh5o00TFLY = = = = = = = = = = = = = = <0.0005 = = = = <0.0005
FSO0TFLY = = = = = = = = = = = = = = <0.0005 = = = = <0.0005
[20 [~Et - — - — - — - — - — - - - - <0.001 — — — — <0.001
* [ — — — — — — = = = = = = = = = = = = = = = =
bl B — — — — — — — — — — — — — — — — — — — — — —
Py
REH = = = = = = = = = = = = = = = = = = = = = =
® T RMARA
B | 27 |OnmkbL, VT RRIRALSY, TR IR - - - - - - - - - - - - 0 - - - - - - - - - 0
B 048, 70EAL
g = = = = = = = = = = = = = = = = = = = = = =
HO0AEY = = = = = = = = = = = = = = = = = = = = = =
[ [EBEUZOEER = = = — = = — = — — — — = <0002 = = — = <0002 | <0002 | <0
LS=1. DIEED 280 = = 005 = = 003 = 005 280 073 050 = 003 = = 015 = 050 003
[t [EEUZDLAT 510 = = 019 = = 0.1 = 0.4 5.10 139 14 = 0.3 = = 049 = 140 0.3
[ [MRUZDIEED - — - - - - - - - - - - - <0.001 - - - - <0.001 <0.001
FHIDLRUEDEEY — — — — — — — — — — — — — 6.0 — — — — 6.0 60 | 6
P LE%H 0086 = = 0019 = = 0,007 = 0017 0086 0032 0022 = 0,009 = = 006 = 0,060 0,009
WD - = = — = = = = — — = = = 65 = = — = 65 65
[0 [BNSDL RTHHLEERE) — — — - - - - - - - - - - - 18 - - - - 18
[0 [ZRERY - - - - - - - - - - - - - - 54 = = = = 54
[ 4 A4 REE A — — - - <0.02 — <0.02
7 <0,000001 | <0,000001 | <0.000001 | 0.000002 | 0000003 | <0.000001 | <0.000001 | <0.000001 | <0.000001 | 0000003 | <0.000001 | 0.000001 <0,000001 | 0.000001 | 0,000002 | 0,000002 | 0000002 | <0.000001 | <0.000001 <0,000001 | 0000001
2 AFNAJRLIT—IL <0,000001 | <0.000001 | <0.000001 | <0.000001 | 0000001 | <0.000001 | <0.000001 | <0.000001 | <0.000001 | 0000001 | <0.000001 | <0.000007 <0,000001 | 0.000002 | 0,000002 |_0,000001 | 0000003 | 0.000001 | <0.000001 <0,000001 | <0.000007
A4 REETER] = - = = = = = = = - = = = = <0.002 - - - - 0002 | <0002
[ [Zz/— - = = — = = - = — — - — — — = 00005 | <0.0005
[ [REHEHRRE TOC) OE) 0 = = K] = 10 3 0 K] 08 4 = 08 12
[_47 [pHIE 71 — - 77 - 74 77 71 75 74 76
3 = = = = = =
CEd EEY I8 ERGL - ERGL =
[0 [EE 8 i 7 9 8 9
BE 92 92 2 24 2 14
#5| e H255.13 BX EN 12684 BX B
1 [FYFEVRUEZOLEED — — — — —
SSURUEQILEED = = = = = = = = = = = = = = = = = = = = = =
T EUEQILE = = = = = = = = = = = = = = = = = = = = = =
2-T500Thy = = = = = = = = = = = = = = = = = = = = = =
FLTY = = = = = = = = = = = = — — = = = = = = = =
K [To [DELES - TF AT - - - = - = - = - = - - - - - - - - - - - -
# [ [zE%8 = = = = = = = = = = = = = = = = = = = = = =
& SHO07EFZRIIL = = = = = = = = = = = = = = = = = = = = = =
m [0 [fkpas—1L = = = = = = = = = = = = = = = = = = = = = =
g [ |REE GRERETRERS) = = = 0 = 0 = = = 0 0 0 = = 0 = = 0 = 0 0 0
LT3 = = = = = = = = = = = = = = = = = = = = = =
R o e = = = = = = = = = = = = = = = = = = = = = =
B T3 (i1-rysonTEY = — = — = — = — = — — = — = — = — = — = — =
B[4 [AFLATFNI—FIL = = = = = = = = = = = = = = = = = = = = = =
B 5 |[AB%%E Rn0sREE) = = = = = = = = = = = = = = = = = = = = = =
B [ 16 [E%3ME (TON) — — — — — — — — — — — — — — — — — — — — — —
| BATE G 7T R = = = = = = = = = = = = = = = = = = = = = =
o [ R = = = = = = = = = = = = = = = = = = = = = =
19 HOOIFL = - = - = - = - = - = - — — — = = = = = = =
20 | NVIMEREISLANKYBEPFOS) R U
~WINAn1)8/BE(PFOA)
#5| s H256.17 H25107 | H251115] hizoiza | Jmk H26101 | Wz iid |k
[ [EXESE (mS/m) 11 9 1 96 = 96
2 7o (mg/1) 14 = = 32 = 2 3 34 = 34
[ 3 |55 &R E (E260) 0.18 — — 0.18 — 0.15 019 024 — 024
w o [7oE=rEE% e/ | <005 = = <005 = <005 <0.05 <005 = <005
215 fpoorasuson [BEe]| - - - - - - - - - - - - 0 - - - - - - - - - 0
k-
sleprar lmml - - -1 -1 -1 -1-1-1-1-1-1-1-W-1T-1-1-1-1-1-1-1-1-1:>
B [ naurman /o) | — = = = = = = = = = = — 0 = = = = = = = = — = 0
[o [25%eE%) g/ = 40 020 007 10 048 015 = = 40 007 057 6 025 [N} 028 026 019 025 029 029 [} 023 7
9 [20> @YY) (mg/1) = 0,100 0017 0,003 0010 0016 <0003 = = 0,100 <0003 0024 6 0033 0,006 0003 0009 0,006 0040 0,055 0055 0,003 0022 7
10 [5aa7.0ta (ma/1) = <0002 | <0002 0003 0,002 0,002 0,002 = = 0003 <0002 | <0002 6 <0002 0003 0,004 0003 0,003 <0002 | <0002 0004 <0002 | <0002 7




FR25—FHAFE KERERR HKRE: 430 (BER) MOEM

KEHAETRE

&5

BRERE

16 |[YA-12-290RIFLYRY

[E ity <0001 <0.001 <0001 | <0001 1 <0.001 <0.001
7 [Sranisy = = 0,001 = = = = <0.001 <0001 | <0001 = = 0,001 = = = 0,001
16 [7h5500TF LY = = <0,0005 = = = = <0.0005 | <00005 | <00005 = = <0,0005 = = = <0,0005
MJZO0TFLY = = <0.0005 = = = = <0.0005 | <00005 | <0005 = = <0.0005 = = = <0.0005
[0 [Rov = = <0001 = = = = <0.001 <0001 | <0001 = = 0,001 = = = 0,001
x [ — — — — — — — — — — — — — — — — — — —
bl B — — — — — — — — — — — — — — — — — — —
Py
REH = = = = = = = = = = = = = = = = = = =
® T RMARA
T | 27 | (JAnfLh, VT AEIANASY, T ORI - - - - - - - - - - 0 - - - - - - - - - 0
B 048, 70EAL
g = = = = = = = = = = = = = = = = = = =
HO0AEY = = = = = = = = = = = = = = = = = = =
[ [EBEUZOEER — = 0,002 = = — = <0002 — = 0,002 = — =
LE=). DEED 0.46 - 08 - - 0.46 - 46 0.52 — 16 — 044 —
[t [EEUZDLAT 063 = 15 = = 080 = 80 120 = 34 = 130 =
[ 35 BRUZDEEH - - <0.001 - - - - <0.001 — — <0.001 — — —
FHIDLRUEDEER = = = = = = 5 = = = = =
P LE% 0017 = 0012 = = 0041 = 0041 0021 = 0014 = 0120 =
BIEHIAY - = = = - = 2 - = = - =
(38 [ D L ITRT D LB R = = = = = = B = = = = = 15 15
[0 [ZRERY - - - - - - 4 - - - - - 60 60
[ [EEAA REE A <0.02 — 02 0. — — <0.02 <0.02 <0.02
SIFAS. <0.000001 | 0.000001 | 0,000002 | 0000002 | 0000001 | <0.000001 | <0.000001 <0.000001 |0.000001 <0,000001 | 0,000001 | 0,000001 | 0.000001 | 0.000002 | 0.000002 | <0000001 | 0000002 | <0.000001 | 0.000001
2 AFNAJRLIT—IL <0.000001 | <0,000001 | 0.000001 | <0.000007 | 0.000001 | <0.000001 | <0.000001 <0.000001 | <0.000001 <0.000001 | <0,000001 | <0,000007 | <0.000001 | 0,000001 | 0.000002 | <0.000001 | 0.000002 | <0.000001 | <0.000001
A4 REETER] - = <0.002 = = = - <0002 | <0002 - - 0,002 - - - - <0002 | <0002 | <0002
[&5 [oz/—1 — = <0.0005 = = — = 00005 | <0.0005 — = <0,0005 = = — = 00005 | <0.0005 | <0.0005
[ [REHEHRRE TOC) OE) 08 = 3 = = 19 = 08 13 0 = 16 = = 25 = 25 10 17
[ 47 [pHiE 74 — 76 — — 75 — 74 75 69 — 74 — = 76 = 16 6.9 13
3 =
EEES minmyn] EEGL -
__|ﬂ§ = 26 8 6 3
R — 17 40 13 3
#5| e H27511 | H2768 | 2776 | Heisio | nerey | wWerios | Weriia | X 2 B B
1 [FYFERUZOLEED — — — —
T RUEDILEN = = = = = = = = = = = = = = = = = = = =
T EUEQILE = = = = = = = = = = = = = = = = = = = =
2-T500Thy = = = = = = = = = = = = = = = = = = = =
FLTY = = = = = = = = = = = = = = = = = = = =
* — = — = — = — = — = = = = = = = = — = —
5 = = = = = = = = = = — — — — — — — — = —
& — = — = — = — = — = = = = = = = = — = —
E: — — — — — — — — — — — — — — — — — — — —
8 = = = = = = = = = = = = = = = = = = = =
? 1z = = = = = = = = = = = = = = = = = - = -
B T3 (i1-rysonTEY = = = = = = = = = = = = = = = = = = = =
B[4 [AFAATFLI—FIL - - - - = - = - = - - - - - - - - - - -
R {5 [AR0% KNn0LREE) = = = = = = = = = = = = = = = = = = = =
B [ 16 [E%3ME (TON) = = = = = = = = = = = = = = = = = = = =
| BATE G 7T R = = = = = = = = = = = = = = = = = = = =
o [ R = = = = = = = = = = = = = = = = = = = =
19 HOOIFL - = - = - = - = - = - = - = - = - = = =
20 | NVIMEREISLANKYBEPFOS) R U
~WINAn1)8/BE(PFOA)
T TRETs
#5| s H275.11 [ H27. H2776 [ H278.10 T H27.97 & 12 BA
[ [eacas TS /m) 56 71 8 1
2 7o (mg/1) i = is = = 2 2
[ 3 |35t 8308 3 B (E260) 0.14 — 0.21 — — 033 049
w o [7oE=rEE% (mg/) <005 = <005 = = <005 <005
21 s [poorasoson [BrEe]l| - - - - - - - - - - 3 - - - - - - - - 13
k-
i el - T 1111011111111
B [ naurman — = — = — = — = — = 0 — — — = = = = = = = 0
ENEFECTES) 024 018 021 041 034 051 012 051 012 029 7 033 [} 032 043 034 040 052 052 X 035 7
9 [20> @YY) 0014 019 0,007 00i4 0022 0033 0,007 0.9 0,007 0041 7 0022 0,008 0012 0010 001 0025 0,007 0025 0,007 0014 7
10 [5aa7.0ta <0002 0,004 <0002 0003 <0002_| <0002 | <0002 0,004 <0002 | <0002 7 <0002 0002 <0002 | <0002 | <0007 | <0002 | <0002 0,002 <0002 | <0002 7




FR25—FHAFE KERERR HKRE: 430 (BER) MOEM

KEHAETRE
0BT
&5 BRERE (W]
280
205
- [ <00002 | <0
E = = = = 00005 | <0.0005 | <0.0005
YR-12-2900TFLURY _ — — _ — _ _ - - _ - _
e ety <0001 <0001 | <000t | <0001 1 <0.001 <0001 | <0001 | <0001 1
7 [Sranisy = = 0,001 = = = = <0001 | <0001 | <0001 = = 0,001 = = = = 0001 | <0001 | <000t
16 [7h5500TF LY = = <0,0005 = = = = <0.0005 | <00005 | <00005 = = <0,0005 = = = = 00005 | <00005 | <0005
MJZO0TFLY = = <0.0005 = = = = <0.0005 | <00005 | <0005 = = <0.0005 = = = = €0.0005_| <0.0005 | <0.0005
[0 [Rov = = <0001 = = = = <0001 | <0001 | <0001 = = 0,001 = = = = <0001 | <0001 | <00t
x [ — — — — — — — — — — — — — — — — — — — —
bl B — — — — — — — — — — — — — — — — — — — —
Py
REH = = = = = = = = = = = = = = = = = = = =
® T RMARA
T | 27 |(UnmhLh, Y7 BEINAASY, T 0ES IR - - - - - - - - - - 0 - - - - - - - - - 0
B 048, 70EAL
g = = = = = = = = = = = = = = = = = = = =
HO0AEY = = = = = = = = = = = = = = = = = = = =
[ [EBRUZOEED — = 0,002 = = — = <0002 — = 0006 = = — = 0,006 0,006 0,006
L DEEY 013 = 08 = = 019 = 19 084 = 1.40 = = 035 = 4 035 086
[t [BRUZDIEET 025 = 22 = = 043 = 43 150 = 320 = = 100 = 320 1.00 190
[[35 ARUEDEED — — <0001 — — — — <0.001 — — 0.003 — — — = 0.003 0.003 0.003
FHDLEUEDER = = ) = = = = 4 = = B = = = = 56 | 56 ]
D LE%H 0009 = 0019 = = 0024 = 0,024 0023 = 0054 = = 0120 = 0.120 0023 0,066
BIEDAA = = 9 = = - = - = 6 = = - = 63 63 63
[0 [BNSDL RTHHLEERE) — — 1 — — — — — — 1 — — — — 17 17 17
[[40 [ZEREEH - = 7 = = = = = — 14 — — — — 140 140 140
[ [EEAA REE A <0.02 — — <0.02 — <0.02 <0.02 <0.02
SIFAS. <0.000001 | 0.000001 | 0,000002 | 0000001 | 0.000002 | <0.000001 | <0.000001 | 0,000002 | <0.000001 | 0.000001 <0,000001 | <0.000001 |_0,000001 | 0000001 | 0.000001 | 0.000002 | <0000001 | 0000002 | <0.000001 | 0.000001
2 AFNAJRLIT—IL <0.000001 | <0,000001 | <0.000007 | <0.000007 | 0,000003 | <0.000001 | <0.000001 <0.000001 | <0.000001 <0.000001 | <0,000001 | <0,000007 | <0.000007 | <0.000007 | 0.000001 | <0.000001 | 0.000001 | <0.000001 | <0000007
A4 REETER] - = 0002 = - - - <0002 | <0002 - - 0,002 - - - - 0002 | <0002 | <0002
[&5 [oz/—1 — 00005 | <0.0005 — = <0,0005 = = — = 00005 | <0.0005 | <0.0005
[ [REHEHRRE TOC) OE) 0 0 15 09 = 21 = = 24 = 24 09 18
[ 47 [pHiE 73 73 74 70 — 15 = 15 7.0 12
3 = = = = = = = =
CEd REEGL - REGL ER R R REGL -
[0 [EE 7 10 3 8 - - - 22 - 22 8 16 3
. 20 ot 3 26 = 53 = = 17 = 53 17 32 3
#5| e 20510 | 12068 | 2075 | +os2 | oo | Hzoiod | heoiis | ek B H30T17 | B
1 [FYFERUZOLEED — — — - —
T RUEDILEN = = = = = = = = = = = = = = = = = = = =
T EUEQILE = = = = = = = = = = = = = = = = = = = =
2-T500Thy = = = = = = = = = = = = = = = = = = = =
FLTY = = = = = = = = = = = = = = = = = = = =
* — = — = — = — = — = = = = = = = — = —
5 = = = = = = = = = = — — — — — — — — = —
& — = — = — = — = — = = = = = = = = — = —
E: — — — — — — — — — — — — — — — — — — —
8 = = = = = = = = = = = = = = = 2 = = = =
? 1z = = = = = = = = = = = = = = = = = - = -
B T3 (i1-rysonTEY = = = = = = = = = = = = = = = = = = = =
B[4 [AFAATFLI—FIL - - - - = - = - = - - - - - - - - - - -
R {5 [AR0% KNn0LREE) = = = = = = = = = = = = = = = = = = = =
B [ 16 [E%3ME (TON) = = = = = = = = = = = = = = = = = = = =
| BATE G 7T R = = = = = = = = = = = = = = = = = = = =
o [ R = = = = = = = = = = = = = = = = = = = =
19 HOOIFL - = - = - = - = - = - = - = - = - = = =
20 | NVIMEREISLANKYBEPFOS) R U
AL INA0EY5YBEPFOA)
#5) #ERE R T
20104 | H20118 | J B H3067 | 3076 | hoss | ns0ea | Ha0i03 | Waoii7 | g%
[ [ESESE (mS/m) 9.1 — 9. 6. 3 6. 10 | — 1
2 7o (mg/1) 26 = 2 i 20 3 = i = = 3 = 3
[ 3 |55 &R E (E260) 027 — 0.2 01 0.25 3 — 0. — — [ — [
w o [7oE=rEE% (mg/) <005 = <005 <0.05 <005 3 = <005 = = <005 = <005
21 s [poorasoson [BrEe]l| - - - - - - - - - - 3 - - - - - - - - - - 13
k-
i el - T 1111011111111
B [ naurman — = — = — = — = — = 0 — — — — — — — — = = 0
ENEFECTES) 024 027 037 028 008 010 019 037 008 022 7 018 019 027 016 027 023 018 027 016 021 7
9 [20> @YY) 0,005 0008 0013 0024 0012 0010 0,004 0024 0,004 0011 7 0023 0,006 0,037 0,008 0012 0,020 0016 0037 0,006 0017 7
10 [5aa7.0ta <0002 | 0003 0003 0002 <0002_| <0002 | <0002 0003 <0002 | <0002 7 <0002 0002 <0002 | <0002 | <0007 | <0002 | <0002 0,002 <0002 | <0002 7




FR25—FHAFE KERERR HKRE: 430 (BER) MOEM

KEHAETRE T
RIHIBRETR
#5| s RI59 Ri65 173 RI87 Ri94 | RI102
148 5.1 182 282 223 191
87 129 155 240 181 130
36 560 = = 250
Tt B = = B
— <0,0003 = = -
= <0.00005 = = =
= 001 = = =
<0001 001 = = <0.001
— 001 = = -
= 005 = = =
= 004 = = =
= 001 = = -
= 09 = = 009
— 05 — — —
= 02 = = = <
= 0.0002 = = = < [ <0
X = <0,0005 = = = = <0.0005 | <00005 | <00005 = = <0,0005 = = = =
YA-12-090ATFLYRY — - — - — — - - — - -
e ety <0001 <0.001 <0001 | <0001 1 <0.001
7 [Sranisy = 0,001 = = = = <0.001 <0001 | <0001 = = 0,001 = = = =
16 [7h5500TF LY = <0,0005 = = = = <0.0005 | <00005 | <00005 = = <0,0005 = = = =
MJZO0TFLY = <0.0005 = = = = <0.0005 | <00005 | <0005 = = <0.0005 = = = =
[0 [Rov = <0001 = = = = <0.001 <0001 | <0001 = = 0,001 = = = =
* [ — — — — — — — — — — — — — — — — — — —
bl B — — — — — — — — — — — — — — — — — — —
Py
REH = = = = = = = = = = = = = = = = = = =
® T lerAagy
T | 27 |(UnmhLh, Y7 BEINAASY, T 0ES IR - - - - - - - - - 0 - - - - - - - - - 0
B 048, 70EAL
g = = = = = = = = = = = = = = = = = = =
HO0AEY = = = = = = = = = = = = = = = = = = =
[ [EBRUZOEED — 0,002 = = — = <0002 — = 0005 = = = =
LE=). DEED 053 07 - - 024 - 53 067 — 079 — — 47 —
[t [EEUZDLAT 058 19 = = 078 = 78 092 = 25 = = 25 =
[ 35 BRUZDEEH - <0.001 - - - - <0.001 — — 0.003 — — — —
FHIDLRUEDEER = 3 = = = = 3 = = = = = = )
D LE%H 0017 0012 = = 0062 = 0,062 0022 = = = 065 = 0022 0257
BIEDAA> - 4 = = - = 74 4 74 - = = = - = 66
(38 [ D L ITRT D LB R = 0 = = = = 20 0 20 = = = = = = 2 %5
[0 [FERERH = 1 = = = = 51 1 51 = = 14¢ = = = = 14 140 14
[ [EEAA REE A <0.02 — <0.02 02 <0.02 — <0.02 — <0.02 <0.02 <0.02
SIFAS. <0,000001 | 0.000001 | 0,000001 | 0000002 | 0000002 | <0.000001 | <0.000001 | 0,000002 | <0.000001 | 0.000001 <0.000001 |0,000001 0,000004 | 0,000002 | 0000002 | <0.000001 | 0.000004 | <0.000001 | 0.000002
2 AFNAJRLIT—IL <0.000001 | <0,000001 | <0.000007 | <0.00000 | <0.000001 | <0.000001 | <0.000001 | <0.00001 | <0.000001 | <0000001 <0.000001 | 0000001 0,000002 | <0.000001 | <0.000001 | <0.000001 | <0.00001 | <0.000001 | <0.000001
A4 REETER] - - 0,002 - - - - <0002 | <0002 | <0002 - - - - - - 0002 | <0002 | <0002
[&5 [oz/—1 — — = 00005 | <00005 | <0.0005 — = = = = 00005 | <0.0005
[ [REHEHRRE TOC) OE) K] 16 = 16 K] 14 13 = = = 13 13 67
[47 [pHiE 71 12 - 74 71 12 - - — 6.9 69 12
3 = — = = = = — =
CEd ERGL I8 FRIR[ ARGL - BWER HWER -
[0 [EE i - i 7 9 3 - - - 28 22 3
i3 12 = 17 28 il 3 = = = 230 94 3
T re—— LoEIGETN i3 43 REBhE RIS
RI59 RI65 RT3 RIB7 Ri94 | Ri102 | Riii7 BX R2513 | R263 R278 R292 | R2i07 | R2iis B N
T [7oFE ROZDILED — — - — - — - — - — - — - — - -
SSURUEQILEED = = = = = = = = = = = = = = = = = = = =
T EUEQILE = = = = = = = = = = = = = = = = = = =
2-T500Thy = = = = = = = = = = = = = = = = = = = =
FLTY = = = = = = = = = = = = = = = = = = =
* — = — = — = — = — = = = = = = = = — = —
5 = = = = = = = = = — — — — — — — — = —
& — = — = — = — = — = = = = = = = = — = —
E: — — — — — — — — — — — — — — — — — — —
8 = = = = = = = = = = = = = = = = = = = =
?‘ 1z = = = = = = = = = = = = = = = = = - = -
B T3 (i1-rysonTEY = = = = = = = = = = = = = = = = = = =
B[4 [AFAATFLI—FIL - - - - = - = - = - - - - - - - - - - -
R {5 [AR0% KNn0LREE) = = = = = = = = = = = = = = = = = = =
B [ 16 [E%3ME (TON) = = = = = = = = = = = = = = = = = = = =
| BATE G 7T R = = = = = = = = = = = = = = = = = = =
o [ R = = = = = = = = = = = = = = = = = = = =
19 HOOIFL - - = - = - = - = - = = = = = = = = =
~LINATFISSANESBE(PFOS) R U - - - - - -
0 | e et <0.000002 <0.000002 2
LoEIGETN 243 REGETE R i
e EEEE RI59 Ri65 | RT3 Ri87 | Ri94 | Rii02 | RiI7 | j& s 1 ress [ Reoz T rejor T reiis | & -0
[ [EXESE (mS/m) 6. = 8. = = 1 = 1 17 = 17
2 7o (mg/1) i = 2 = = 2 = 2 = = 21 = 2 i5
[ [ R (E260) 022 [ = = 0 = 0 = = 072 = 072 025
w o [7oE=rEE% (mg/) <005 = <005 = = <005 = <005 = = 006 = <005 <005
21 s [poorasoson [BrEe]l| - - - - - - - - - 3 - - - - - - - - - 13
k-
P Lmmd| - L e T T T
B [ naurman — — = — = — = — — 0 — — — = = = = = = = 0
ENEFECTES) 026 040 012 036 034 015 065 065 012 033 7 037 021 082 i3 057 240 053 24 021 089 7
9 [20> @YY) 0013 0009 0015 0012 0025 0015 0.160 0.160 0,009 0036 7 0025 0007 0085 017 0045 0340 0034 0340 0,007 0101 7
10 [5aa7.0ta <0002 0,042 0,005 0,002 0002 0,002 0,003 0042 <0002 0,007 7 0004 0,007 0007 0,007 <0002 0,008 <0002 0,008 <0002 0,005 7




FR25—FHAFE KERERR HKRE: 430 (BER) MOEM

KEHAETRE
3 AEAE R3512 | R36 R377 R3T110 RA68
140 62 217 100 155
80 98 185 89 122
16 = 440 = -
TRE = TR = =
— = <0,0003 = = - = =
= = <0.00005 = = = = -
= = 001 = = = = =
<0001 = 001 = = <0.001 = -
— = 001 = = - = =
= = 002 = = = = -
= = 004 = = = = =
= = 001 = = - = -
= = 07 = = 008 = -
— — 05 — — — — B
= = 02 = = = = B
= = 0.0002 = = = = -
E = = <0,0005 = = = = -
LA-12-090RTFLYRY - - - - - - - - - - -
e ety <0001 <0.001 <0001 | <0001 <0001 1 <0.001 <0001 | <0001
7 [Sranisy = = 0,001 = = — = - 0,001 - - - - 0001 | <0001 0,001 <0.001 0001 | <0001
16 [7h5500TF LY = = <0,0005 = = = = - <0,0005 - = - = 00005 | <00005 | <0005 00005 | <0.0005 | <0005
MJZO0TFLY = = <0.0005 = = = = - <0.0005 - - - - €0.0005_| <0.0005 | <0.0005 <0.0005 | <0.0005 | <0.0005
[0 [Rov = = <0001 = = = = - 0,001 - = - = <0001 | <0001 <0001 0,001 <0001 | <0001
x [ — — — — — — — — — — - B - B - B - — — — — —
bl B — — — — — — — — — — - B - B - B - — — — — —
Py
REH = = = = = = = = = = - = - = - = - = = = = =
® T lerAagy
T | 27 |(UnmhLh, Y7 BEINAASY, T 0ES IR - - - - - - - - - - 0 - - - - - - - - - 0 -
B 048, 70EAL
g = = = = = = = = = = = - = - = - = = = = = =
HO0AEY = = = = = = = = = = = - = - = - = = = = = =
[z [EBRCEZDEED — = 0,002 = = — = <0002 - - 0009 - - - - 0,009 0,009
LS=1. DIEED 035 = 07 = = 016 = 35 045 - 031 - - T2 - 12 065
[t [EEUZDLAT 061 = 17 = = 050 = 61 098 - 10 - - 40 - 40 199
[[35 ARUEDEED — — <0001 — — — — <0.001 - - 0.002 - - - - <0001 <0.001 <0001 0.003 <0.001
FRIYLRUZDEEY — - - - — - - - 59 - - - - 5. 59 68 61
D LE%H 0016 = 0013 = = 0043 = 0043 002 - 0026 - - 013 - 0 0,059 0650 0,007 0058
BIEDAA = = = = - = - - 59 - - - - 5 59 74 67
[Be [DNSDOL RTHLDHLEGERE) = = — — — — - - 18 - - - - 1 1 18 25 19
[0 [ZRERY - - - - - - - - 88 - - - - 8 8 88 140 78
[[a1 [BAA> FmEtEAl <0.02 — <002 02 < - <002 - - <002 <002 <0.02 <002 <002
SIFAS. <0,000001 | <0.000001 | _0,000002 | 0000003 | 0.000001 | <0.000001 | 0,000002 | 0,000003 | <0.000001 | 0.000001 <0,000001 | 0,000002 | 0,000002 | 0000002 | 0.000002 | 0.000001 | <0000001 | 0000002 | <0.000001 | 0.000001 0000004 | 0.000001 | 0000001
2 AFNAJRLIT—IL <0.000001 | <0,000001 | <0.000007 | 0,000002 | 0,000003 | <0.000001 | <0.000001 | <0.00001 | <0.000001 | <0000001 <0.000001 | <0,000001 | <0.000007 | <0.000007 | <0.000001 | <0.000007 | <0.000001 | <0.00001 | <0.000001 | <0.000007 0.000003 | <0.000001 | <0.000001
A4 REETER] = = £0.002 = - - - <0002 | <0002 | <0002 - - - - - - - 0002 | <0002 | <0002 <0002 | <0002 | <0002
[&5 [oz/—1 — = <0.0005 = = — = 00005 | <00005 | <0.0005 - - - - - - - 00005 | <0.0005 | <0.0005 00005 | <0.0005 | <0005
[ [REHEHRRE TOC) OE) 09 = 17 = = 18 = 18 09 15 0 - 21 - - 35 - 35 10 22 130 08 20
[L47 [pHiE 73 - 72 - - 77 - 77 72 74 71 - 75 - - 73 - 75 71 73 17 69 14
[ 48 [B%
CEd
[ [
&
&5 BRERE
1 [FYFERUZOLEED
T RUEDILEN = = = = = = = = = = = = = = = = = = = = = = =
T EUEQILE = = = = = = = = = = = = = = = = = = = = = =
2-T500Thy = = = = = = = = = = = = = = = = = = = = = = =
FLTY = = = = = = = = = = = = = = = = = = = = = =
* — = — = — = — = — = = = = = = = = — = — = — =
5 = = = = = = = = = = — — — — — — — — = — = —
& — = — = — = — = — = = = = = = = = — = — = — =
E: — — — — — — — — — — — — — — — — — — — — — —
s = = [ = = 0 = 0 [ 0 = = [ = = 0 = 0 [ 0 [ 0 [
? 1z = = = = = = = = = = = = = = = = = - = - = - =
B T3 (i1-rysonTEY = = = = = = = = = = = = = = = = = = = = = =
B[4 [AFAATFLI—FIL - - - - = - = - = - - - - - - - - - - - - - -
R {5 [AR0% KNn0LREE) = = = = = = = = = = = = = = = = = = = = = =
B [ 16 [E%3ME (TON) = = = = = = = = = = = = = = = = = = = = = = =
| BATE G 7T R = = = = = = = = = = = = = = = = = = = = = =
o [ R = = = = = = = = = = = = = = = = = = = = = = =
19 HOOIFL = = = = = = = = = = = = = = = = = = = = = =
NWINFREISSRNKSEEPFOS) R T — - - - - — - - - - - - - - - -
20 | A YA BRE OB <0.000002 <0.000002 2 <0.000002 <0.000002 2 <0.000002 | <0.000002 | <0.000002
&3] BERE ML AT 2
R3512 | R362 R3T7 R3G4 R398 | Rai06 | R3ITI0 | v Ra511 | R46S Ra76 | Ra810 | R4o7 | Rai04 | R4l B B
[ [EXESE (mS/m) 5. = 7. = = 11.0 = 1 5. = 6. 17 = 56
2 7o (mg/1) 1 = 2 = = 29 = 2 i = i = = 20 = 2 i
[ 3 |55 &R E (E260) 038 — 031 — — 034 — 0.38 027 — 0. — — 044 — 046 027
w o [7oE=rEE% (mg/) <0.05 = <0.05 = = <005 = <005 <005 = <005 = = <005 = <005 <005
21 s [poorasoson [BrEe]l| - - - - - - - - - - 3 - - - - - - - - - - 13 - -
k-
B [ naurman — = — = — = = = — = 0 — — — — — — — — = = 0 = =
ENEFECTES) 033 027 027 019 X 017 055 055 X 027 7 03 015 04 068 033 073 012 073 012 039 7 240 007 037
9 [20> @YY) 0018 0008 0014 0,009 0,008 0014 0070 0070 0,008 0020 7 0023 0,006 0029 0,068 0031 0,095 0,005 0,095 0,005 0037 7 0340 0,003 0032
10 [5aa7.0ta <0002 0,002 0003 <0002 | <0007 | <0002 0003 0003 <0002 0001 7 <0002 0002 <0002 | <0002 0004 <0002 | <0002 0,004 <0002 0,001 7 0042 <0002 0002




